Solution:

1.)Notice that the grid is a Sudoku grid and
that there are 9 types of vehicles.

2.) Solve the Sudoku.

Planes, Trains, Automobiles...

...limosines, bicycles built for two, TriMet bus, Piggyback rides, motorcycles, or
carriage rides?

Pat couldn’t decide which mode of transit was most likely to impress Chris for their
first date. Solve the grid to determine the color of the vehicle.




Solution:

3.)Identify the mode of transportation in each
numbered box.

4.) Index the number into the name of the
mode of transportation.

Planes, Trains, Automobiles...

...limousines, bicycles built for two, TriMet bus, Piggyback rides, motorcycles, or
carriage rides?

Pat couldn’t decide which mode of transit was most likely to impress Chris for their
first date. Solve the grid to determine the color of the vehicle.
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Answer: CRANBERRY




